5MO0058B Pupil Tasks Plan cou

Master Standard Partitioning (5 and 6 digits) B

Complete the stem sentences.

and combine to make
10,000 |20,000(30,000 460 50,000 {60,00070,000]80,000/90,000
é 2,000 | 3,000 | 4,000 | 5,000 | 6,000 | 7,000 | 8,000 | 9,000 Complete the stem sentences and draw the counters.
100 | 200 | 300 | 400 | 500 é 700 | 800 | 900 -
10 20 30 40 é 60 70 80 90
53,281 partitions into , , , and
1 2 3 4 5 6 7 8 é

, , , and combine to

766,434 partitions into
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100,000]200,000]300,000 460 500,000{600,000}700,000]800,000{900,000 and

10,000120,000130,000{40,000 56) 60,000{70,000(80,000190,000 100,000{200,000]300,000]400,000|500,000{600,000]700,000]800,000{900,000

1000 12,000 | 5,000 | 4000 | 5000 O 7,000 | 8,000 | 9,000 10,000 [20,000]30,000{40,000{50,000|60,000|70,000|80,000{90,000

100 ] 200 6 400 | 500 | 600 [ 700 | 800 | 900 1000 | 2,000 | 3.000 | 4000 | 5000 | 6,000 | 7,000 | 8.000 | 9.000

10 ] 20 | 30 | 40 | 50 [ €0 é 80 | 90 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900

1 é 3 4 5 6 7 8 9 10 | 20| 30 | 40 | 50| e | 70 | 80 | 90

and 1 2 3 4 5 6 7 8 9

combine to make
209,710 partitions into , , and
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Master Standard Partitioning (5 and 6 digits) B

Fluency 2 Fluency 3

Combine using the equations. Partition using the equations.

500,000 + 20,000 + 1,000 + 400 + 20 + 8= -
- [3/0/ojolo]> —

B> 80 EHy 16638 94>

4,000 + 30,000 + 9 + 80 + 600 =
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663,894 - = 603,894
+6+ 2,000 =42,206 VS
800,371 - = 800,071

-

700,000 + 40,000 + 3,000 + +10 + 2 =743512

[610/0/0 48]

600,048 + = 608,048

32,019 - =
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Fluency 4

Fill in the missing numbers.

257948 -___ =250948
257948 -__ =257908
257948 -__ =57,948
+ + + + +
= 257,948
Fluency 5

Fill in the missing numbers.
35,390 -
800,000 + 40,000 + 7,000 +

= 30,390
+20 +1=2847,621
500 + 70,000 + 60 + 4,000 =

+ + + + = 906,283
188,703-___ =108,703
3,000 + 90 + + + 200 = 73,294
65118-___ =518

400,000 + 400 +4,000 +4 =

170,205 + =170,285
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